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(1) x*+4

(2) (x+D(x+3)(x+5)(x+7)+15
(3) a’(b—c)+b*(c—a)+c*(a—Db)

(FZED]

(1) x*+4=(x"+2x+2)(x* -2x+2)

(2) (x+D(x+3)x+5)(x+7)+15=(x+6)(x+2)(x* +8x+10)
(3) a*(b—c)+b*(c—a)+c*(a—b)=—(a—b)(b—-c)(c—a)

1 EETE R - ERE SR




CfFEANRING | HhE#E [BODIHFECBIRUIL
GESHO)!
(1)

COREORHE. [COFFTREMULLIDNBVIEVWSIRTT,

CDEIRT—ITE AN Z2ELT. Z0HERIVBDZESIKCEEZZEZELL.
2FN, x*+4+0—0
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(x*+4+0)-©

EFEDHBTET, A’-B> OFCTER VWD EEZZONEREESTY,
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(x* +4+0) N D—T(CHBBLIR O ZEZTHET .,

ZIT,

FEPDOTER 41E2 0ZFBOT,

xt+axt +4=(x"+2)

HBVENREBOET ., TNEETT L

xt+4=(x"+2)" —4x’

ERDET, INT. A%-B? DFCIRDEL,

UIieho T

x4 = (22 +2)2 —4x? = {(x2 +2) + 2x {07 +2) ~ 2x )= (32 + 2x + 2)(% —2x+2)
[CRDET.
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(x -Tr D(x+3)(x +15)(x? 7+15
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(x> +8x+7)(x* +8x+15)+15
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ERD, EBIC X +8X THIZBCEN TEBATT
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x> +8x=M EFBE,
(M +7)(M +15)+15
ERINFEY,

CNERBITEE. (M +7)(M +15)+15= M +22M +120 = (M +12)(M +10)
EREDEETEET,

UIeho T M Z7tldRI L

(% +8x+12)(x*> +8x +10) = (x + 6)(x + 2)(x +8x +10)
EBDET,

3 EETE R - ERE SR




CfFEANRING | HhE#E [BODIHFECBIRUIL
(3)

COXD4FEIZL, &F)\—=Yh' a, b, c THEELTVWIRTY,
IOV —AIEE D EBEOTN LR IBVDOT, —2OXFICEBEUVTEEUELLS.

feeZE a [SEBLTHRESDTHDE.
a’*(b—c)+b’(c—a)+c’(a—b)=(b—c)a’ —(b* —c*)a+b*c—bc’
(CRDFT,

NUED —c TFEDBNESTY, DFD,

(b—c)a’> —(b+c)b—c)a+be(b—c)

= (b—c){a2 —(b+c)a +bc}
=(b-c)a-b)a-c)=—(a=b)(b-c)(c-a)
ERDFT,
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